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1. What is the limit of annual turnover for small enterprises of manufacturing
sector?

 Between 5 cr to 75 cr
 Less than 5 cr
 Between 75 cr to 250 cr
 Just 25 cr

2. What is India’s rank in the Global Competitive Index report 2019?

 71st
 68th
 78th
 52nd

3. What is the rate of interest on Employees’ Provident Fund (EPF) for 2018-19?

 7.85%
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 9.25%
 8.55%
 8.65%

4. Supersonic Cruise Missile BrahMos is joint venture of which of the following?

 India and Russia
 India and China
 India and Israel
 None of the above

5. World Population Day is observed on:

 11th July
 8th May
 5th June
 16th October

 Submit 


